p— B

Directions Q. No. 1 - 3: Directions Q. No.4-6:

In the following items a word is followed by four

A word has been written in four different ways explanatory expressions. Choose the expression

out of which only one is correctly spelt. Choose

that explains the given word correctly.
the correctly spelt word.

4. Wardrobe:
h lanes are kept
1. (1) Parralel (1) aplace wherep P
(2) aplace where official records are kept
& R {3)—#place where clothes are kept

(3) Parralell (4) aplace where horses are kept

4 Parallel
\-E')/ e 5. Philistine :

(1) one who is a fine judge of literature
or art.

2. (1)  Hypocresy (2) one who is a novice as far as art and

literature are concerned
2 Hipocris
@ P d (3) one who is devoted to music

(3) Hipocracy (4). one who does not like or understand
7 \ﬁ art, literature or music

(4) Hypocrisy
6. Iconoclast :

@I_one who encourages idol worship

3. @, Indigenius (2) one who is specially sent by God to
preach a particular religion

2) Indigenous .
@ | (3) one who is against all forms of

(3) Indeginus government |
one who criticizes popular beliefs and
4) Indigenus established customs
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Directions Q. No.7-9:

Choose the word which best expresses the
meaning of the underlined word in each sentence.

7. The knowledge of nuclear power might
lead to annihilation :

(1)  immortality
(2) tremendous progress
(3)  full healthfulness

(4) total destruction

8.  The Minister condescended to accept our

invitation.

(1) felt happy

(2) declined
‘9 deigned
_(4) agreed

9. I was stunned at the unabashed display
of wealth in the wedding.

(1) candid
2 impressive
3 accurate

4) shameless

Directions Q. No.10-13:

»® TAataa .l va

Each of the sentences given below has been
divided into four parts viz (1), (2), (3), (4). One of
the parts contains an error. Choose the part which
has the error.

10. Walking / across the street / atruck
(1) .@ ©)
knocked him down .

L

11.  No sooner we entered / thanhe gotup /

1) -
and left / the room .

®) (4)

12.. This pond is flooded /

J)—

with water because /
(2)
it is raining continuously for the /
(3)
last three days .
4)

13. WhenIwent / tohishouse, /
) ()
I found that / he had been died .

~\(3)/ )

M/Page 3
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Directions Q. No. 14 - 16 :
Choose the option which best expresses the

meaning of the underlined idiom/ phrase in each
sentence.

14. Hehad second thoughts :

a

(2) changed his mind

planned very carefully

(3)  decided to go elsewhere

(4) decided to take somebody with him

15. He knows
buttered :

which side his bread is

(I)  knows where his advantage lies
(2)  knows the art of cooking

(3) knows how to butter a slice

Jf_l_)_,._‘knows how to chatter

16. You must keep your head whatever

happens :
(1) remain calm
(2) be honest

Jaz—concentrate

(4) be self respecting

Directions Q. No.17 - 20:

In the following sentences one part of the sentence
isitalicised. Four alternatives to the italicised part
which may improve the sentence are given.
Choose the appropriate alternative.

17. Rohit has got many friends because he has
got much money.

M lot of money

(2) bags of money
(3) tons of money

(4) enough money

18. The secret information was held away from

me:

(1) back
(2) out
() wup
(4) off

19.  Hespentmuch time and energy over it, and
lost a lot of money in the bargain.

() Tfor the bargain
(2) into the bargain
(3)  with the bargain
(4)  off the bargain

20. The main business of the Parliament is to

deal with matters pertained to the legislation.
(1)  pertained with
(2) pertaining to

\(3)—TPertain to

(4)  pertaining with

M/Page 4
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21, 'TE HE-W HAH &2 A fa T fored

¥ { W faehey i wE i

(1) wEYaES

) FSEE=s
(B) YEvaE®

@) f=gaEs

22, ‘oTe’ Y § 4 WE UE 1 N few g
fafu= fawedi 9 9 9T -
(1) frEe
@ w

) g

3 ) T

23. frafafad faeed §f 4 I &1 oad! o

‘u SR W R’ - 39 Areifea w1 T 3
9 few e foemreal # @ gfC

24,

(1) g @l 3R = o tfus

2) T HH gfd tfues
R

(3) IR i AT T A A
(4) TF o5 F HH F6 9

25, Frefafaa fasedl & & g3 e 9T :

(1) =R 3Tt % fag @ s |
.@/ﬂﬁ?ﬁ“@’ﬁﬁ@ﬂﬁl

(3) B W 3t F ferg e e o |
@) <t 6 ol freea T

26.

V& &I A HIY : Frefafead vl § ¥ T e BHE-T 2
(1) ool (1)
(2) =T (2) W
§ gl ®
4) ST @ o
M/Page 5 I & & ft g / SPACE FOR ROUGH WORK
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27. ﬁg%ﬁmﬁwﬁ@‘m'mmﬁ\ﬁh CUNIE SRR LS R T TR S —

2? '
(1) fa= \&9 Wﬁ@ﬁ@ﬁw@ﬁm%
(2 (B T L N 7 i o v
®) @ . (3) TUH Ei-faame s )
P (4) 3H GS-WS HrEr <1 9Har )

31. fr=fafas s & fog fa o e 4
28. ‘YT E R TW AR F GEl dgaad Y HAE R H1 =TT Y :
T

"9 FB SHAare”
1) G R
1) IFEE
\2— TR T
w \9,14653
(B) WTWEEI ¢ wd
4) IEWEEI @) e

29. forT Sre0y & SeaIid €F Ot ovf PN FeAw | 320 AR fRU ww avf faede ¥ fou w@ v
¥ ? fr=afafaa fasedl o 9 Sugw faweg =t Frefafed fawedl ¥ @ 9t .
TgaM ST :

S+ Y+ 3+H+3
1
| (1) o
il (2 ¥
3) = o e
@ = @ st
M/ Page 6 % & & TG 7% / SPACE FOR ROUGH WORK —r
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33. ‘vwieg+3rd’ §fY | HH-T e 9 37, frfafaa 3§ & S F-91 v 575 THM i 3R
O g T 2 ud fashew =1 =5 wIfT
e . (1) TR-AMT
Q) == :

\@/‘sﬁw
(3) v @) fa-fa
@) = @) wA-u
T T ¥? Freafafed faeedl § ¥ w8 fasew
(1) Fau 1 FG HITSC |
@ T (1) FIETHRT
@) FREH @) - A
) (@) i

35, frafataa fawed § 9 & fawey I = :

qatgaTEt v 99§, S9 sifeu 39, & foman o vy fawa w5l S §, @ SH-w
T A e ? e fou fasredi # @ v fasrey

0 "= = g :

@) ¥&m (1) __FYar=

@) fauR (2) HeET=
@) R

e

2 4) wHHaA

36. ‘ST’ yee H HH-91 30 § 2 9 UMY | 40, ‘I I U T’ - 99 H HE- FRSE
forredl § Q =99 FifaT 2?7 9= feu o fowedi # @ v e 9
5 _aT Tg9H it
‘g/ \gl’amfm
e = (2) T FH
@) s @) SAHH FRE
4 (4) I
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41. wFrdwEm! ' . . o
- Aty %E-TI J2¥4 S H gaedl % fa=Ri | 41, The Programme called NIDHI aims at
aﬁl % & A F A T nurturing ideas and innovation of the
FTRiRH i fefrem & feram o2 youth of the country. It was launched
‘ by :
(1) Tovafoener stqem s @ UG
\(2)~ foum iR dreifirent fawm (2) Department of Science and
_ Technology
(B) =T R SEnT Harer (3) Ministry of Commerce and Industry
(4) S HEIE HAerd (4) HRD Ministry
42. WEE % TgHEA (FHHTaed) ¥ et S | 42, After the departure of Maldives (2016) how
€_2016) & 9% 379 fohad 39 30 WS ® W many nations are the members of
€7 commonwealth ?
) 51 1) 51
2 52 () 52
G) 53 @) 53
g 5 @ 50
43. o9 2016 ¥ AR g Weil & FB | 43.  Months before the 2016 Summer Olympics
HIE gd AeE of ST & the host Country Brazil had to face safety
TR daut GRa s 1 WA FE 9 concerns surrounding
qarl
q) fagTatn (1) Chikungunia
@ ) Dengue
(3) Ti4 e (3) Herpes simplex
‘@/ﬁﬂﬁ feremy] (4) Zika virus
M) Page 8 T @4 % fe7C g / SPACE FOR ROUGH WORK PKJ 17-1
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44. A & H F T Swon & 3ER, < WX & | 4. According to a recent announcement
*era faaem o« daeyie A wwa’ Kendriya Vidyalayas across the country,
& fid st s o f= 4§ fraa wia under the recently launched
A B A fran wem a2 ‘Compassionate Citizen’ programme, will
now teach their children to be kind to :
1) S (1) Animals
(2) wI= (2) Human beings
B =g (3) Reptiles
NOMRL (4) Birds
45. Trefafea 9 @ 64 fosida sfeasi s ereq | 45.  Who among the following has been named
TR XI 1 HEH ST T T2 captain of Wisden’s India’s All Time Test
XI?
(1) THTH (1) M S Dhoni
() s vEi (2) IshantSharma
\E’J—-—“I;I A < (3) Kapil Dev
(4) foe wreed (@) Virat Kohli
46. ‘WA’ g SR A b ATER, HRA ®l | 46. According to a list released by fortune,
=eEg &1 g J RS India’s is among the top ten
aiffuer wifeaemet Afeemeii § 9 €| most powerful women in business.
(1) == AR (1) Chanda Kochhar
) ferar vt (2) Shikha Sharma
3) sf<u Ig (3) Indira Nooyi
4) 3REUId W (4) Arundhati Bhattacharya
Y A
M/Page 9 T% @14 % fore wg / SPACE FOR ROUGH WORK PKJ 17-1
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47, ma"ﬁﬁﬁﬁﬁ(mlé) H nfgen Geare w1 wEAd |47, In Rio Olympics (2016) women'’s football
T gy rar? final match was won by
1) I (1) England
2) e+ (2) Germany
B) 3Jumu 3) US.A.
(4)- WY (4) France
48. T & Y ¥ feud wRE ®E TE Silﬁa?ﬁ 3 | 48. Recently the Hague based Permanent Court
e fean of Arbitration ruled that :
\QJ/E\'FW 1 R % il qEEE WA (I) China has no historic rights to
1 1 Qfagiad fsr T B resources of waters of the South
China Sea.
2 =9 R fretd=g 3 o= 2w & (2) China together with Philippines has
T SRl o & foman § violated the Sovereign rights of
others.
(3) 94 & 'FI";IHHT - Y-9T1 F FHt (3)  China’s sovereign territory has never
gitwnfya =& foran o 1 been defined.
(4)  eqor < R W= & Frer s eEn (4) China has rightfully claimed its
T 2 control over South China Sea.
49. S FY FeAT gAMHe (2016) TREASA? | 49.  Durand Cup Football tournament (2016)
was won by :
\9/ ATSICl edle Fod (1)  Aizwal Football Club
) o A (2) Army Green
(3) el Gt Tl (3) Neroca Football Club
(4) I S HIAH (4)  Mohan Bagan Kolkata
'M/Page 10 T &1 & foTT s / SPACE FOR ROUGH WORK
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50. ¥ € H A (2016) WRA - =gSitere T | 50.

was declared Player of Series

[EERIREe (e 1 T Ot ke L in recently held (2016) India-New Zealand
faes! =hfwa favan o) ODI series.

(1) = SIS (1) .Ravindra Jadeja

) fo= = (2)  Virat Kohli

@) 3 fasn 3) Amit Mishra
\(4} R, A (4) R.Ashwin

51. urei@fes (2016) @et ¥ dar wfds vew | 51.
S Al et Wt Afeen @ ¥ sw

Deepa Malik was the first Indian woman

to win a medal at Para Olympics (2016).
form @a # wm e a2 Which event did she participate in ?
(L Wege (1) Shot Put
(2) fremesh (2) Shooting
() T

() Swimming

(4) SdfeE @ (4) Javelin Throw

52. fr=fafed # 4 fa waess @R 2016 % | 52.

Who among the following has been

faa g g? selected for the award of Eklavya Puraskar
2016 ?
1) e faey | (1) PV Sindhu
(2) gEv T (2) Shravani Nanda
@) FaHE (3) Sunil Kant
& Tl T= (4) Duli chand
M/Page 11 TF &1 & &0 S1% / SPACE FOR ROUGH WORK
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AR W g ¥ forw ad 2015 # et
o A ol Tenelt JeT e e T2

(1) 3fiE areR
(2) <= U
(B) e e

(@) fa=r

54. =92016 ¥ & oMt § Taw < § @l
Uk W 3 9l AT A R % 8 7

(1) S
(2 =

B fawm
(4) <o i

55, SMTee 2 g v el 5T % wi Frefatad

53.

54.

55.

Who among the following received
Padma Shri in 2015 for being first amputee
to reach the summit of Mt. Everest ?

(1) Ashwini Waskar
(2) Bachendri Pal
(3) Laxmi Agarwal

4) Arunima Sinha

Which country does Ma Long, the gold
medalist in Table Tennis at Rio Olympic

2016, belong to :
(1) Japan

(2) China

(3) Vietnam

(4) South Korea

Who would be the first lady of USA after
the swearing in of Donald Trump ?

(1) Melanie Trump
(2) Maria Trump
(3) Melanija Trump

(4) Melania Trump

F § 1 g TE Tk For A g 2
\akﬁaﬁ‘t?q
(2 wifEgd
(3) et 9
(g HenfEgd
M/ Page 12
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56. 4 ¥ Tregfued ag1 I=9aX | 56 The State whose Board of Secondary and
Hreafiren finen |re X qigg e J mitEn wmwE Higher Secondary Education has deleted a
el O s @ v e R chapter on Maria Sharapova from a text

book is
(1) 7o (1) Gujarat
\w 2) Goa
(3) @ Tg (3) Tamil Nadu
4 T~ (4) Rajasthan

57. Iwqu -raed A frefafad § & fFww F@f | 57 The Supreme Court appointed Justice
F1 5g & e Irfd et ¥ 1 e e Lodha Panel to look into the functioning
q1? of :

KO 31 (1) BCCI
(2) o gl E @ 1ce
@) uwHEH @) ACC
(4) W @ @ AICC
58. FrefafEad o 9 fFQ WRARW I TE & & | 58.  Which of the following Airlines has posted
12 T 105 FUS 1 g1 feaman ?? a profit of ¥ 105 crore after a decade ?
(1) TR sfea (1)  Air India
2 3= (2) Indigo
(3) g (3) Vayudoot
\(4) T T T (4) Indian Airlines
M/ Page 13 % @14 & forg sRTE / SPACE FOR ROUGH WORK PKJ 17-1
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59.

Whoare thé winners of under - 18 Asia Cup

HOTE 7 A W g it F ey wfvrn w9 | 59,
=T 2016 1 forsrar 3 §2 Hockey 2016 ?
(1) i (1) Pakistan
(2) ST (2) Bangladesh
B AT () India
(4) e (4) SriLanka
60. WRH™ SuE St §2-18 (G SAT - 18) fFG% | 60. What is Indian satellite G SAT - 18 about ?
LELE R ¥
\(Df T HER (1) Telecommunication
(2) ORI I freRT (2) Star-gazing
@) g TR (3) Pollution monitoring
4) o &1 (4) Weather monitoring
61. 31eRl H FH-91 UYE Wiell TH W FHAR | 61.  Which one set of letters when sequentially
@I QT HER ST H G HAM? placed at the gaps in the given letter series
shall complete it ?
v_l.'__k]‘v_lkk_l_;v_hkkllv,__ vl klv 1lkkl v _kklw
Ni'g kvvlyv 1) kvvlv
(2 1kvkl (2) lkvkl
@ vllkv & vilkv
(@4) klvkk 4) klvkk
M/ Page 14 % @1 & fI W& / SPACE FOR ROUGH WORK PKJ 17-1
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62. TH TI4 1 Ueh FHFRI HS W @ B ?I | 62. A one rupee coin is placed on a piece of
Iqh 1Y 39 R & fray 3R fogwn 39 paper. How many more coins of the same
WHR T@ T Hehd © o Wleh gy e 4 EXC| size may be placed such that each touches
fiah ohi 3T |19 & 1 311 firaen] =iy A1 ? the central coin and two adjacent coins ?
1) 5 ¥ S
2 6 2 6
G 7 @ 7
@ 4 4) 4
63. IfE1Q61TH TR Y 37F T 4 q fawfsa B | 63. If all the numbers from 1 to 61 which are
ST €, 9gd gL A A G ford < <y divisible by 4, are arranged in ascending
¥ 89 WM | HHA-T 37 & 2 position, then which number will be at
8t position from the lowest ?
& 32 (1) 32
2 36 2 36
(3 40 @) 40
@) 28 @ 28
64. I H TH A H a9 a2 108, T V8T | 64. In a row of buses if bus Number 108 is 8th
T T 3R 99 T 201 10 ¥ 14§ ©™H W from the front. Bus Number 201 is the
g1 I 98 F = owd €1 aEA H g 14" from the rear end. There are nine buses
forat o €2 between them. How many buses are there
in the row ?
1) 26 1) 26
@ 29 @ 29
\(}). 31 3 3
@ 23 4 23
M/Page 15  T% T4 & {10 7% / SPACE FOR ROUGH WORK
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65.

f

,P’:; I e 9 ¥ ‘Q I 7 ‘R’ §1 | 65. ‘P’ is the only daughter of 'R". ‘R'is a
= N W P S 7| wawY ‘S, P grandmother of ‘Q’. The name of ‘Q’s sister
¥ TEH Hafi §2 is ‘S’, then what is the relation of ‘S" to ‘P’ ?
! (1) =& (1) Sister
(2 (2) Mother
(3) (3) Aunt
4 =@ (4) Daughter
66. U Afd Arfral ¥ ITC &l AR 9al, Ik | 66. A person rode a bicycle in North ward
a1 91 Hea 3 foh. |l =rer, f EIRE:El IR direction then turned left and rode 3 km,
2 fdfl. =@l o7& 3T 9 MY H SA and again turned left and rode 2 km. He
YRy TH ¥ 3 3 fwd. afves | arn found himself exactly 3 km West of the
e YRE | I FT 3R e =en o1 ? Starting point. How far did he ride
North ward initially ?
1) 2 & (1) 2km
2 3fw. 2 3km
@) 5fR 3) 5km
@) 1fed 4 1km
M/ Page 16 T w14 @ feTT Sg / SPACE FOR ROUGH WORK
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67. = faw e fo W anuif@ o frerd fgu e | 67, Based on the given figure, following
¥ wé fred et conclusions are drawn. Identify the true
Conclusion.
“Boys
Post
Sons Graduate
Conclusion :
@ wft wgH & E () All boys are sons.
() FS EEH SIS €| (I) Some graduates are post Graduates.
(W) FD FFH Th & | (Ill) Some boys are graduates.
(IV) F® ETaHIe TH ¢ | (IV) Some post graduates are boys.
(1) _(I0), (Ii) & (IV) &eF § 1) (1), (iii) and (IV) are true
2) (F(IV)FI € (2) (III) and (iV) are true
@) I )TEE 3) (1) and (III) are true
@) (1), ()& () & & @) (1), (I1) and (ill) are true
68. Tl GTreaat &t | 30% B.Tech @d125% | 68.  In 2 software development company, 30%
MBA feift s Far €1 20% T § foeh workers are B.Tech degree holders, 25% are
qrg & S fefrat §1 eFR 325 SHIR MBAs, and 20% hold both these degrees.
ot gt fetht % & 1, &9 3 Fd If 325 workers are without any professional
foram HHER € 2 degree, how many workers are there in the
company in all ?
(1) 425 (1) 425
{2~ 500 @ 500
3) 625 (@) 625
@) 39 4) 390
M/ Page 17 I% @1 & ¢ 9°E / SPACE FOR ROUGH WORK PK]J 17-1
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ok g‘? H B ﬁ@l—'ﬂ'{g I 1 4 W4 | 69. Which of the following number sets is
' different from other three ?
J- 7,31,21,37) - 1) {7,31,21,37)
(2 {5,13,17,29) @ {5,13,17,29)
@) {38,7,11,23 B) 3,7,11,23)
@) {11,31,13,43} @) {11,31,13,43}
70. AR+ FAd x, + WA +, - FHF + | 70. If + means X, + means +, — means +
Tl X AT A — B A 56 —8x5+4+7 Fl and X means —. Find the value of
HH 81T : 56—8x5+4+7:
() 27 1 27
(P 30 2 30
@) 32 B) 32
4) 25 @4 25
71. 91 it <1 2777en 9 B 71.  Write the next term in the following series : .
15, 10, 45, 20, 135, 30 ; 15, 10, 45, 20, 135, 30
(1) 205 (1) 205
2) 305 () 305
By 405 () 405
4) 40 4) 40
M/Page 18 % 1A & feTq 7§ / SPACE FOR ROUGH WORK PKJ 17-1
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72. fwm ﬁ §3W = I oy feu | 72.  From the given alternatives select the word
T W2 & & F gIn &
EFUUCRICIEE kec § which can be formed by using the letters of
_ the given word.
INTELLIGENCE INTELLIGENCE
N Salnk (1) ENGINE
() ENTRANCE () ENTRANCE
(3) TEENAGE (3) TEENAGE
(4) CANCEL (4) CANCEL
73. U& Afw 3 fF.f1. I faon & 5@ ofvem | 73. A man moves 3 km North, then turns West
il @Tﬁgm% AR R 2 ., =cran 81 and moves 2 km, again he turns North and
ACITHTd e ST i AR HgH 1 fh. . o & walks 1 km, and 5 km towards East. How
3R R qd ot e 5 fob . e @) 1@ 5 far is he now from his original place ?
A R T § fraft W R?
(1) 10 f&HA. (1) 10km
(2 s8f&H. (2) 8km
\@.——5 .. (3) 5km
@) 11 f&HL 4) 11km
74. TS Gishiass W™l H ¥is RESPONSE # fer@r | 74.  In certain Code Language, the word
7T ¥ ESNOPSER, @ ¥ SYMBOLIC @ RESPONSE is coded as ESNOPSER. Then
forEn S the word SYMBOLIC will be coded as :
(1) CILYMBOS (1) CILYMBOS
(2) BOSLYCIS (2) BOSLYCIS
(3} —CILOBMYS (3) CILOBMYS
4) LYMBOCIS (4) LYMBOCIS
M/Pagels | * ﬁ:rg STTE / SPACE FOR ROUGH WORK PK] 17-1
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T Foft ST t{aﬁf@m 75. Write the next term of the following
number series.
. JM\B'E
15, 29, 56, 108, 205, 400 , 15, 29, 56, 108, 205, 400
1) 758 1) 758
\(2- 768 2) 768
<3 770 (3) 770
4 756 @) 756
76. draTReH, et o grew fyua) FIMEF |76, A survey of 50 cars was conducted for
1T 50 1Y 1 wdferor fean ) forey L REID] options of air conditioning, radio and
[T g3 | power windows. The following
information was found :
(@) 30 R ArdHa (@) 30 cars with air conditioning
(b) 4R -alﬁlfﬁlh(_'la qAT qrer fa=et ﬁh?j, (b) 4 cars with air conditioning and
e =& power windows but no radio
(€ 21 e & @y (c) 21 cars with radio
(d) 12K el qe Ao & 9 feheg (d) 12 cars with radio and air
TR fael & conditioning but no power window
(e) 20K 9reR faeil & 4y () 20 cars with power window
() U wR A a0 R fo=el & |y (f)  1car withradio and power windows
(g) 6K |l glawsii & iy (8) 6 cars with all the three options
WIA ¢ | Question :
ferat RI | IS Ylaen =&t ot ? What is the number of cars that had none
of the options ?
1 6 1) 6
2 8 6 42Ut @ 8
0 3) 10
\@/l Lt G)
4) 4 4) 4
M Page 20 T 1Y [T / SPACE FOR ROUGH WORK PK] 17-1
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77. A man is 4 years older than his wife. The
3“? ik Y 1 A TR ¥R H: wife is three times as old as their daughter.
3129[10‘0[&% AT A =1 %5 T The present age of daughter is 10 years.
TR Sl S R How old was the man when his daughter
was born ?
1 2794 (1) 27 years
N 24T (2) 24 years
() 269 (3) 26 years
@4 2194 (4) 21years
78. qﬁ+ﬂﬂﬂfx,—ﬂaﬂﬁ+,xwypjm 78. If + means X, — means <+, X means —
agr + &1 3 + A, MN16X4+12—4+18F and + means +, then find the value of
HH B 16X4+12-4+18:
1 20 (1) 20
\2—22 @ 22
@) 24 (@) 24
4) 18 4 18
79. fre=r @ i & et o & MUR W TH TE | 79. Three of the following form a group based
T &1 98 TS HH-91 & SN g F GH on an attribute. Find the one which has
T ? different attribute.
(1) dfan (1) Copper
) (2) aﬁ (2) Silver
3) Wﬁm (3) Aluminium
W (4) Brass
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80. ¢ o
ﬁ:‘r{ﬂq e o q Wy AR g 9fT ) | 80. Select the related letter-group from the
given alternatives.
ADGI:?::MPSV:NKHE ADG]:?::MPSV:NKHE
1) zZwTQ 1) ZWTQ
2 zZwaQr 2 ZWQT
@) suvy 3) SUVY
\(ﬂ/ ZXTS @4 ZXTS
81. 3mE(A): 81. Assertion (A):
IS FEEE U, Siem 2R 9y Social constructivist approach contributes
foer ik = @isa w6 stfrm fagr & to learning theory by focussing on thinking
RIEH e ¥ | processes when learning takes place.
T (R) : Reason (R) :
T °91 5§ R foaneff @ g, sifiemy =+t Knowledge is assumed to be constructed
T F4d € 3R arfermy Y we=mn 9 |fra by learners themselves and learning is seen
Wishan 3R FHAA F 9 F @ o as an active process of construction and
knowledge accumulation.
I FUA & HeH H TH Wl SUHA g In the context of above statements, select
the correct one :
&y (AT RIEgR) @R (1)  (A) is true but (R) is false
(2) T (A) R (R) WE € AR (R), (A) (2) Both (A) and (R) are true and (R) is
T ® the explanation of (A)
3) (A g ® fohg (R) 1 9 81 3Tavas (3)  (A) is true but (R) is not necessarily
T be true
@) 32 (A) R (R) TE & g (R), (A) B (4)  Both (A) and (R) are true but (R) is
=TE e © not an explanation of (A)
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83.

82. Wﬁq&?&mmaﬁ|

Tqeh! g frehTer =nfyu | R

(1) o H & T e g
b

@ IR § TR W g
(3) T TeHRA ¥ TS R g

4) HEA ! 9 YRER § 5=t g

Sfre Mieds & Wil 9fs & faga &
FTER Fgehi w1 qiafits nfass w e 2
afen it =afFaa g # frata s e sg%
)1 feu Tu wiafs 9fg & &5 & w9 R
TR :

A SR e v

aafygo 3R Tayfd
(3) ISR WHIUC, STH ST, S
T, Ty iR g

(4) ST STReSRaT, Ao, e FrE,
wryfd 3R g SR

R —

82.

83.

An unhappy incident happened in a class.
The teacher should find the solution by :

(1) Discussing the matter in the class

only

(2) Discussing the matter with the

Principal

(3) Discussing the matter with his/her
colleagues

(4) Discussing the matter with his/her
family

Daniel Goleman’s theory of emotional
intelligence suggests that educators need
to consider the emotional brain, which
controls personal intelligence. From the
following, identify which combination of
dimensions of emotional intelligence he
claimed ?

(1)  Selfregulation, motivation, simpathy,
self respect and social skill

(2) Self concept, self respect, self
regulation, motivation and empathy

(@) Social skill, self awareness, self
respect, empathy and motivation

(4) Self awareness, motivation, self
regulation, empathy and social skil]
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84.

85.

86.

R —

Fe=tifeg o
%%?@'aﬁ“‘w IS freror &1 wewrqul
) e oot a3 amy franfiedt 29 e

(2) e ¥ qof wifg
(3) N A faenfi %t sefeef

(4) Tt g g o wmedw v

Tr=ifrd & 9 wm-31 fag gv9- 97 gl
& WA R AT T a2

Tt areager faren aftag & gra ffid faerhi
¥ et Sfaea faaae § feifed §
§ $-T1, fenfeldi & wfa afae d afAfaa
& E?

1) et fareon fafa 1 foenfafar =t
HETIFHAS & ATET A odl &
‘(ﬁ)/mmfﬁtﬁ@ﬁuaﬁwﬁaaﬁm%ﬁ

# v o 1 glea & €

() fomer st & wh v 8 e
e Sfass 1 GFH 8

@) T foeaferd ¥ of T § S
T §

84.

85.

86.

Which of the following is an important

indicator of best teaching ?

(1) Number of students passing the
examination

(2) Complete silence in the classroom

(3) Attendance of students in the

classroom

(4) Meaningful questions asked by
students

Which of the following principles is not
applicable to the use of audio visual aids ?

(1)  Principle of fulfilment of objectives
(2) Principle of selection
(3) Principle of effectiveness

(4) Principle of utility

As per the code of professional ethics for
teachers, framed by NCTE. Which of the
following is not included under the

obligations towards students ?

(1) Adapts his/her teaching to the
individual needs of students

(2) Informs parents the confidential
matters related to students for their
benefit

(3)  Respects human dignity of the child
in all aspects of school life.

(4) Treats all students with love and
affection
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87.

88.

89.

frifera ® @S- {-s1fm ) g
faferea 2

(1) Wwﬁmmaﬁq

(2) a3 Fiwa iR g Tt &

() e F1 7 X v 3 fer ¢ v
ST Hhat §

(4)  sfrE STew il argEy

TS Wrearere H e e % TR H v e

T AR st wriewn § g e s 3,
SH FEd T |

(1) AR ureT=El

(2) YR gl

@) Frefad ueT=a

@) &fas gev=E

TF 994 T T4 H, T o1.¢, &6 B I 7
auf 3 31 H Ten H S usd o411 WY g4
TS ot TteT 31 qiErT e el o | U IR
g

87.

88.

89.

Which among the following is a common
feature of E-learning ?

(1)  Always require physical presence in
the class
(2) Time and cost are very high

(3) Documents cannot be downloaded

for later reading

\@,,Leaming in self-paced

In a curriculum, if there is linking
knowledge from one lesson to the next
across a programme of study, itis:

(1) Vertical curriculum

(2) Topical curriculum
\;;5.)—— Spiral curriculum

(4) Horizontal curriculum

Atone time in a state a B.A. Student had to
appear in the examination at the end of
three years only. There was no examination

or any test before that. This is an example
of :

(1) GrTcHe i (1) Summative Evaluation
.\@/ ey smenfia Fedishd &1 (2) Criterion Evaluation
(3) e el & (3) Annual Evaluation
@) fawrEmcHs Hedis &l (4) Formative Evaluation
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0. = RS - — o
S iy 22 P HA-T 4 | 90.  Which role of a teacher is crucial in present
- day context ?
(1) st :
) ] T S a1en sreamge (1) Teacher as a facilitator of learning
“(z)/g'j %awﬁ?ﬁam At yfshan (2) Teacher as a good teacher and a
T & T H fen manager of teaching learning process
\A(?/ W JMER AR & w9 H sreamas (3) Teacher as a strong motivator
(4) T H OF IS FANF F ¥ G (4) Teacher as a good class room teacher
9. “ T foneror fafy @ < = fammd | 91, ~ is a teaching method helpful
F TS FF @fd W &1 v § TwEs to discover new ideas and responses very
Bt 81 foeml W fofa = 93 g sty quickly. The focus is on generating as many
fomml o o SR fean 5mn €; weft forami ideas as possible withoutjudging them ; All
Hl T e fear S g1 T | Al A ideas are given equal credence”. Select
gMHa | the correct one.
(1) ofFer-3fia (1) Role play
\@/ uf=at fafy (2) Discussion method
(@) formmmEm (3)  Brainstorming
@) -8R (4) Buzz session
PAC
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92.

W%ﬁmﬁﬂﬁf@mﬁmmmw

92. What is the most advisable way of
T e § 2 s ; d
organising the class room furniture ?
1 SHH! ST
(1) ik I o1 wrafes spuw (1) Its arrangement should change on
LN daily or weekly basis
2
@ gijg:h ST & e wefte I (2) Classroom furniture has no relevance
T ¥ iy uw e @) to teaching and learning. So a teacher
; FEITe el Tt =i | should not worry about this
X _4%‘ THHT  FIRy HHI-9H Uy (3) Its arrangement should change from
TARIHATIIR et =fe | time to time as per the requirement
- (@) TR B % 91 38 T 7 e (4) Once, it has been fixed, it should not
be disturbed
93. frifera § | forg et § s7eamsh ffHd 3R | 93. In which of the following aspects,
AT T8I0 H 37X Bl © 2 standardized achievement tests and teacher
~ made tests differ ?
(1) odeguil Y favasrar iR S (1) Reliability and Validity of the tests
@) vl § gaifed faudaesg (2) Content covered by the tests
](}L giyeruii o 3R ki fafy (3)  Process of scoring of the tests
@) Tl qq F F 9T (4) Time for completion of the tests
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9.
;ﬂxm%mﬁwaﬁmﬁm
Y SHfers s A 7

REUER

g fasedia g

Traures 9

&)
©)
@)

95. el TR T T LA P AW FH A

=feq ?

ayfaes 3R 3Terad
fg gu A B AW €, 3 gAS
[ AT

Toft foreri 2 T 9t et A1feT

1)
2

[

)

\J

-\

forq1 Gvd ©l 3d1 91

96. Wﬁﬂfaﬂ'{mailﬁ?qffwaﬁl‘{%‘?

WWWW%

maaaufﬁmgﬁ%aznmﬁm
ot ©
maﬁﬂfaﬂiwﬁmﬂr@w%

q@aﬁqraﬁraawmqm%

(1)
Vi~

€)
4)

g test items, which of the
onsidered

94. While preparin
following types O
as easy to score, bu

f questions are C
t difficult to construct ?

Alternative response type

1)

Short answer type

(@)

(3) Multiple choice type

(4) Essay type

At school level what should be the dress of

a teacher ?

95.

(1) Modern and upto date

Just like normal dress of that society

(2)
to which the students belong

It should be same for all teachers

As simple as possible

96. Whatis the difference between curriculum

and syllabus ?

Syllabus is part of curriculum

1)
(2) Curriculum includes text books and
syllabus

Curriculum and syllabus are same

()

Curriculum is part of syllabus

(4)

—
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97. =1 @ = wmafus el fass F wivam

| Fafua T T £
(1) TAHEFZ

(3) IETAURT

4) TAFIGLu

98. WIATH® &3 & Zevd F1 Wl FH A9 FH G
waifus Jfeaa & sqan €

(1) 91?‘.:';:.32.' ahl, A60] Al -frqfr?.d EXCIN
[/ied 1 Hafom

2 3 &ol {1, gfataa F4, Q"QIT’?«"T 141,
nfed 3 e

() wfafEa &0, qeAtea w0, Fe

97.  Whichof the following is a national agency

related to training of secondary school
teachers ?

(1) NCTE
(2) NCERT
(3) INSA

(4) NUEPA

98. The correct arrangement of objectives
under affective domain, from least to most

complex is :

(1) responding, receiving, valuing,
organization and characterization

(2) receiving, responding, valuing,

organization and characterization

(3) responding, valuing, organization,

receiving and characterization

(4)  receiving, responding, organization,

valuing and characterization
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it S e O B '
L

7 e  foe 3 T Hay fared €2 99. The teaching of biology has correlation
with :
@) s (a) Economics
®)  fed (b) Hindi
©  sfem (c) History
(d)  FrER fagm (d) Computer Science
()  sifaat (e) Physics
1) (@), (), (@), (d) 3R (e) (1) (@), (b), (c), (d) and (¢)
@ (@) ), () AR (d) (2 (), (b), (c) and (d)
(3) (@), (b), () 3R (e) (3) (a), (b), (c) and ()
4) HIA (e) (4) Only (e)

L

100. = F 99 SR § ggM ¥ fohd foem-=get=m | 100. Which teaching strategy should be

%! a0Fdl &1 ST =1fey ? preferred for teaching about gram plant ?
(1) STRER ¥ HeH H 45-990 (1)  Field visit in the month of October
2 T 71 F WY F Sitaq ) frew (2)  Film on the life of a gram plant
3) =1¢ 3R Afeel &1 SYEn (3)  Use of charts and models
\(}1/\ weviA fafy (4) Demonstration method
-000- -00o0-
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